
 

 

61. If selling price of an article is 
8

5
times its cost price, the profit per cent on it is: 

a. 120% b. 160% c. 40%  d. 60%  e. Answer not known 
 

xU nghUspd; tpw;gid tpiy> mjDila mlf;f tpiyiag; Nghy 
8

5  
klq;F 

vdpy;> tpw;gid kPjhd ,yhg tpOf;fhL vt;tsT?  
a. 120% b. 160% c. 40%  d. 60%  e. tpil njhpatpy;iy 

 
Explanation: 
 

Let the cost price be 10 

Then, SP = 
8

10 16
5

 =  

Profit = 6 and profit % = 60% 
 

62. An equivalent ratio of 7 : 4 is   
a. 1 : 3 b. 15 : 8 c. 21 : 12  d. 14 : 18  e. Answer not known 
7 : 4 ,d; rkhd tpfpjkhdJ  
a. 1 : 3 b. 15 : 8 c. 21 : 12  d. 14 : 18  e. tpil njhpatpy;iy 

 
Explanation: 

 
 Equivalent ratio of 7 : 4 = 7(3):4 (3) = 21 : 12  
 

63. Selling price of a commodity is increased by 15% in a year and then the new 
price is decreased by 15% in the next year. Find net increase or decrease in the 
selling price.  
a. no effect   b. 2% decrease   c. 2.25% decrease   
d. 2.25% increase e. Answer not known 
xU nghUspd; tpw;gid tpiy xU Mz;by; 15 rjtPjk; mjpfhpf;fg;gLfpwJ.  
gpwF Gjpa tpiy mLj;j Mz;by; 15 rjtPjk; Fiwf;fg;gLfpwJ.  tpw;gid 
tpiyapd; epfu mjpfhpg;G my;yJ Fiwg;G vt;tsT? 
a. tpisT VJkpy;iy b. 2% FiwT   c. 2.25% FiwT 
  
d. 2.25% mjpfk; e. tpil njhpatpy;iy 

 
Explanation: 

 
Let the selling price = 100 

15% increased = 
15

100 100 115
100

+  =  



 

 

15% Decreased in 115 = 15
115 115

100
−   = 97.75 

Loss = 100 – 97.75 = 2.25 

 
64. If the ratio of cost price and the selling price is 5: 6, the gain per cent is: 

a. 20% b. 33 
1

3
% c. 25%  d. 30%  e. Answer not known 

xU nghUspd; mlf;ftpiy kw;Wk; tpw;gid tpiy Mfpatw;Wf;F ,ilNaahd 
tpfpjk; 5:6 vdpy;> ,yhg tpOf;fhL: 

a. 20% b. 33 
1

3
% c. 25%  d. 30%  e. tpil njhpatpy;iy 

 
Explanation: 

 
Let the C.P = Rs. 5x and S.P = Rs. 6x 
Then, profit = 6x − 5x = x 

Profit % = 100 20%
5

x

x
 =  

Thus, gain per cent is 20%. 
 
 

65. The third proportional to ( )2 2x y−  and ( )x y−  

a. 
x y

x y

+

−
  b. 

x y

x y

−

+
 c. x y+  d. x y−  e. Answer not known 

( )2 2x y−  kw;Wk; ( )x y−  d; %d;whtJ tpfpjk; fhz;f. 

a. 
x y

x y

+

−
  b. 

x y

x y

−

+
 c. x y+  d. x y−  e. tpil njhpatpy;iy 

 
Explanation: 
 

( ) ( ) ( )

( )( )

( )( )

( )

( )

2 2 : :x y x y x y x

x y x y x y
x

x y x y x y

− − = −

− − −
= =

+ − +

 

 

66. If Rs 782 be divided into three parts, proportional to 
1 2 3

: :
2 3 4

  then the first part 

is  
a. Rs. 182  b. Rs. 190 c. Rs. 196 d. Rs. 204  e. Answer not known 

& 782 – I 
1 2 3

: :
2 3 4

vd %d;W gFjpfshf gphpf;Fk; nghOJ ,tw;wpy; Kjy; gFjp 

vd;d?  
a. Rs. 182  b. Rs. 190 c. Rs. 196 d. Rs. 204  e. tpil njhpatpy;iy 



 

 

 
Explanation: 

 
1 2 3

: : 6 :8:9
2 3 4

=  

6x+8x+9x=782 
23x=782 
x=34 
So, 1st part = 6x = 6 × 34 = 204 

 
67. A fruit seller bought 10 boxes of grapes at `210 each.  One box was damaged.  

He sold the remaining boxes at `250 each.  Find the profit/loss percentage 
a. 7.14% loss  b. 10.14% loss  c. 7.14% profit   
d. 10.14% profit  e. Answer not known 
xU go tpahghp 10 ngl;b jpuhl;irfis xU ngl;b &.210 tPjk; thq;fpdhh;.  
mjpy; xU ngl;b jpuhl;ir mOfp tpLfpwJ.  kPjKs;s ngl;bfis xU ngl;b 
&.250 vd;w tpiyf;F tpw;fpwhh;.  ,yhg / e~;l rjtPjk; fhz;. 
a. 7.14% e~;lk;   b. 10.14% e~;lk;  c. 7.14% yhgk;   
d. 10.14% yhgk;  e. tpil njhpatpy;iy 

  
Explanation: 

 
Cost price = 210 × 10 = 2100 
Sale price = 250 × 9 = 2250 
Profit = 150 

Profit % = 
150

100
2100

 = 7.14% 

 
68. The ratio of the number of boys and girls in a college is 5 : 6. If the percentage 

increase in the number of boys and girls be 20% and 25% respectively, what 
will be the new ratio?  
a. 6 : 7 b. 7 : 6  c. 4 : 5   d. 7 : 8  e. Answer not known 
xU fy;Y}hpapy; cs;s khzth;fs; kw;Wk; khztpfSf;fhd tpfpjk; 5 : 6 
khzth;fspd; vz;zpf;ifapypUe;J 20%-k; kw;Wk; khztpfspd; 
vz;zpf;ifapypUe;J 25%-k; cah;j;jg;gLfpwJ. vdpy; khzth;fs; kw;Wk; 
khztpfSf;fhd Gjpa tpfpjk; vd;d?  
a. 6 : 7 b. 7 : 6  c. 4 : 5   d. 7 : 8  e. tpil njhpatpy;iy 

  
Explanation: 

 
The number of boys and Girls be 5x and 6x  

Percentage increase in boys and girls be 20% and 25% 



 

 

 Required ratio = 
120 125

(5 ) : (6 )
100 100

x x  

    = 4 : 5 

 
69. What is the missing number in the proportion? 4 : 13 :: 64 : _________ 

a. 168  b. 198   c. 208   d. 228 e. Answer not known 
nfhLf;fg;gl;l tpfpjj;jpy; tpLgl;l vz; ahJ? 4 : 13 :: 64 : _________ 
a. 168  b. 198   c. 208   d. 228 e. tpil njhpatpy;iy 

 

Explanation: 
 

4 64

13

64 13

4

208

x

x

x

=


=

=

 

 

70. If 5a + 3b : 4a + 7b = 3 : 4, then a : b is equal to  
a. 9 : 8  b. 7 : 11 c. 8 : 9  d. 11 : 9  e. Answer not known 
5a + 3b : 4a + 7b = 3 : 4, vdpy; a : b d; tpfpjk; fhz;f. 
a. 9 : 8  b. 7 : 11 c. 8 : 9  d. 11 : 9  e. tpil njhpatpy;iy 
 
Explanation: 

 
5 3 3

4 7 4

20 12 12 21

8 9

9

8

9 :8

a b

a b

a b a b

a b

a

b

+
=

+

+ = +

=

=

 
 

71. From each of two given numbers, half the smaller number is    subtracted. After 
such subtraction, the larger number is 4 times as large as the smaller number. 
What is the ratio of the numbers? 
a. 4 : 1  b. 4 : 5  c. 5 : 2 d. 1 : 4 e. Answer not known 
nfhLf;fg;gl;l ,uz;L vz;fspy; xt;nthd;wpy; ,Ue;Jk;> rpwpa vz;zpy; ghjp 
fopf;fg;gLfpwJ.  mt;thW fopj;j gpwF> nghpa vz;zhdJ> rpwpa vz;izg; 
Nghy 4 klq;F nghpjhf ,Uf;fpwJ.  me;j vz;fspd; tpfpjk; vd;d? 
a. 4 : 1  b. 4 : 5  c. 5 : 2 d. 1 : 4 e. tpil njhpatpy;iy 

 
 Explanation: 



 

 

 
Let the smaller number = x and the greater number = y 
According to the question,  
 

(y - 
2

x
) = 4(x - 

2

x
) 

 

⇒ y - 
2

x
= 4 

2

x
 

 

⇒ y = 2x + 
2

x
 

⇒ 
5

2

x
y =  

 
∴ 5 : 2 

 

72. A person distributes his pens among four friends A, B, C, D in the ratio 
1 1 1 1

: : :
3 4 5 6

. What is the minimum number of pens that the person should have? 
a. 45 b. 57  c. 65  d. 75  e. Answer not known 
xU egh; jd;dplk; cs;s Ngdhf;fis A, B, C kw;Wk; D Mfpa ehd;F 

ez;gh;fspilNa 
1 1 1 1

: : :
3 4 5 6

vd;w tpfpjj;jpy; gfph;e;jspf;fpwhh;.  me;j egh; 

ngw;wpUf;f Ntz;ba Fiwe;jgl;r Ngdhf;fspd; vz;zpf;if vt;tsT?  
a. 45 b. 57  c. 65  d. 75  e. tpil njhpatpy;iy 
 
Explanation: 

 
1 1 1 1

: : : 20:15:12:10
3 4 5 6

=  

Minimum number of pens can be when the common ratio is 1. 
So, minimum number of pen = 20 + 15 + 12 + 10 = 57 

 
73. A television set was sold for ` 1,170 after giving successive discounts of 35% 

and 10% respectively. What was the marked price? 
a. 1800  b. 1700 c. 2000  d. 1900 e. Answer not known 
njhlh; js;Sgbfs; KiwNa 35% kw;Wk; 10% vd;wthW xU njhiyf;fhl;rpg; 
ngl;b &.1>170f;F tpw;fg;gl;lJ vdpy;> mjd; Fwpj;j tpiy vd;d? 
a. 1800  b. 1700 c. 2000  d. 1900 e. tpil njhpatpy;iy 

 
Explanation: 

 



 

 

100 100
1170

65 90

2000

x =  

=  
 

74. The compounded ratio of (4 : 5), (6 : 7), (8 : 9) is ______? 
a. 67 : 121  b. 69 : 123    c. 64 : 105    
d. 55 : 127  e. Answer not known 
(4 : 5), (6 : 7) kw;Wk; (8 : 9) –d; $l;L tpfpjk; fhz;f? 
a. 67 : 121  b. 69 : 123    c. 64 : 105    
d. 55 : 127  e. tpil njhpatpy;iy 

 
Explanation: 

 
4 6 8 64

5 7 9 105
  =

 
 

75. Mugilan purchased 30 kg of rice at the rate of ì 10 per kg and 35 kg at the rate 
of ì 11 per kg.  He mixed the two.  At what price per kg (in ì ) should he sell the 
mixture to make a 30% profit in the transaction? 
a. 12.5  b. 13  c. 13.7  d. 14.25 e. Answer not known 
Kfpyd;; xU fpNyh `10 vd;w tpiyapy; 30 fpNyh mhprpiaAk;> xU fpNyh `11 
vd;w tpiyapy; 35 fpNyh mhprpiaAk; thq;fpdhh;.  mth; mt;tpuz;ilAk; 
xd;whff; fye;jhh;.  mth;> me;jf; fyitia xU fpNyh vd;d tpiyf;F tpw;why; 
me;jg; ghpkhw;wj;jpd; thapyhf mtUf;F 30 tpOf;fhL ,yhgk; fpilf;Fk;.  
a. 12.5  b. 13  c. 13.7  d. 14.25 e. tpil njhpatpy;iy 

 

Explanation: 
 

Total cost of rice = (30 × 10 + 35 × 11) 
Total cost of rice =  (300 + 385) = 685 
On 30% profit , 

Required S.P. = 
685 130

13.7
100


=  

 


